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TR S A HT BALD S A B HT BALD BESEVES B K

B+t 10 T 10
TERKRE 1RV 13 13 13
FERRZIARY 17 17 17
FERER: ARV 14 14 14
KERR: AR 12 12 12
FERBRZEFAY 34 37 52
FERRAR R 40 46 52
TERR AR 67 39 67
TERR TSRV 35 34 35
TERRELTRY 30 21 37
TERR T H R 25 36 45
TEREZERAYE 20 20 20
FERBR TR 16 7 16
ERRZ LA RY 45 45 45
TERR FRRY 16 16 16
FER: B HRRAAY 24 28 28
FERCFERAY S 17 16 17
FER:FIREYE 13 13 13
TERR AR 25 25 25
TERR EERAY 15 15 15
EERE BRAY 22 22 43
TERLIRAY S 9 9 9
FERZ P RRRYE 41 35 41
TERR VIR 54 57 61




